08027 43132k

7= miiEA

M
4R,

I
o =, TARFTERHE,

BEEXR
A OlL FHEMIRE.

BHERR :
1) FEEEHF

TeTeTeTeTeTeTeT6Te

28027-141010 M10X1 5 8 14
28027-171215 M12X1,5 6 8 17
28027-171415 M14X1,5 6 8 17
28027-221615 M16X1,5 7 10 22
28027-221815 M18X1,5 7 10 22
28027-242015 M20X1,5 7 10 24
28027-19014 G1/4 7 10 19
28027-22038 G3/8 7 10 22
28027-27012 G1/2 8 10 27
28027-34034 G3/4 8 10 34
28027-40100 G1 8 14 40

© norelem www.norelem.com



